

SALE UPDATES

*Genomics will be added added later today

As of Nov. 05, 2012 6:00am

	As of Nov. 05, 2012 6:00am
LOT	UPDATE
1	305 Projection: 13731M 634F 4.6% 488F 3.6% (330 412 370) Last Heat: November 01, 2012 – Ready to flush!!
4	Ready to Flush!
5	Last (conventional) flush: October 25, 2012
6	Last Heat: November 01, 2012
7	CLRO – Ready to Flush!!
10	Ready to Flush!
11	Last Heat: November 01, 2012
12	GP-84-yr 86 F&L, 84 MS; Last Heat: October 17, 2012 – Ready to Flush!! Sells with \$18000 embryo contract (6 x \$3000) to M.A.S.
19	Genomic results will be available on November 05, 2012
20	Confirmed Safe in Calf
21	Confirmed Safe in Calf
25	Just went through a heat
27	GP-84-2yr, Tremendous flush cow; Last Flush: November 01, 2012 Sells with \$10000 embryo contract (10 x \$1000) to M.A.S.
28	Dam (ShottleLili) was 2 nd place Sr 2yr at Autumn Opportunity Show Oct 2012
29	Tested BY Carrier
30	Genomic results will be available on November 05, 2012
32	GP-81-2yr 305d. Projection: 2-0 8627 340 3.9% 275 3.2% (227 238 224) Open – Ready to Flush / Bred
34	SUBSTITION: OCONNORS LADD LACEY-ET born Sept. 07, 2012 CANF11536034 Genomic results will be available on November 05, 2012
35	MAPEL WOOD BREWMASTER LAUREN born Sept. 08, 2012 CANF11591464 Sired by Brewmaster (not Epic)

	Genomic results will be available on November 05, 2012
36	Genomic results will be available on November 05, 2012
37	OCONNORS BREWMASTER LATTE Born Sept. 03, 2012 CANF11536025
38	OCONNORS BREWMASTER LAKISHA
30	born Sept. 12, 2012 CANF11536040 Sired by Brewmaster (not Ladd P) Genomic results will be available on November 05, 2012
39	MAPEL WOOD BREWMASTER LANA born Sept. 08, 2012 CANF11536037 Sired by Brewmaster (not Ladd P) Genomic results will be available on November 05, 2012
40	MAPEL WOOD BREWMASTER LORINA Born Sept. 04, 2012 +2595 GPA LPI 1358M 81F 56P Conf. +11
41	OCONNORS LADD LAUREL-ET born Sept. 15, 2012 CANF11591466 Genomic results will be available on November 05, 2012
43	Sells Open Last Flush: September 25, 2012 Last Heat: October 25, 2012 Sells with \$13200 embryo contract (6 x \$2200) to GENERVATIONS FUZION*
44	CLRO – Ready to Flush!!
45	Last Oocyte Recovery: October 23, 2012; Ready to Flush!!
52	Confirmed safe in Calf
67	Last Flush: October 04, 2012 Ready to Flush!!
68	Confirmed Safe in Calf
69	GP-83-2yr 305Proj: 2-2 9542 420 4.4% 289 3.0% (245 290 231) Last Flush: November 01, 2012
71	+1877 GPA LPI 1487M 37F 51P Conf. +10
73	Projection: 1-11 230d. 9481 467 4.9% 349 3.7% (248 331 286) Dam's Record: 5-10 365d 55,289lb 3.7%F 2029 3.1%P 1714 Last Heat: November 02, 2012 Ready to Flush!! Sells with \$15000 embryo contract (6 x \$2500) to M.A.S.
74	Dam's Record: 5-10 365d 55,289lb 3.7%F 2029 3.1%P 1714 Just through a heat – Ready to Flush!!
75	Dam's Record: 5-10 365d 55,289lb 3.7%F 2029 3.1%P 1714 Just through a heat – Ready to Flush!!
81	VG-2yr 305d Projection: 2-01 10126 518 5.1% 323 3.2% (265 362 263)

	Last Heat: October 15, 2012
	Sells with \$12000 embryo contract (6 x \$2000) to GENERVATIONS GIZMO*
84	Fresh: October 10, 2012 First Test: 16d. 32.6kg 4.2% 3.0%
	Sells with \$12000 embryo contract (6 x \$2000) to GENERVATIONS GIZMO*
86	VG-2yr, Strong Candidate for Top 10 in Dec.
	305d. Proj: 2-01 10687 501 4.7% 342 3.2% (278 350 278)
	Last Heat: October 23, 2012 Last Flush Date: October 11, 2012
	Sells with \$18000 embryo contract (6 x \$3000) to GENERVATIONS LIQUID GOLD*
87	Last IVF Date: October 23, 2012 Ready to Flush!!
	Lustivi Date. Octobel 25, 2012 Reday to Flashi:
89	Choice of FOUR FEMALES:
	OCONNORS LEXOR BILLIE-ET Oct. 22, 2012 CANF11591473
	OCONNORS LEXOR BINDY-ET Oct. 21, 2012 CANF11672052
	OCONNORS LEXOR BIZZY-ET Oct. 23, 2012 CANF11672056
	MAPEL WOOD LEXOR BIDDY-ET Oct. 23, 2012 CANF11672058
004	Chaire of TWO FEMALEC
89A	Choice of TWO FEMALES: OCONNORS LADD BIJOU-ET Oct. 28, 2012 CANF11672063
	OCONNORS LADD BIJOU-ET Oct. 28, 2012 CANF11672063 2nd Calf not born yet
	2 Call flot both yet
90	PRID put in on November 02, 2012 – Can be started on Flush ASAP
70	Last Heat: October 23, 2012
	Sells with \$15000 embryo contract (10 x \$1500) to GENERVATIONS LIQUID GOLD*
103	Choice of THREE FEMALES:
	MAPEL WOOD EPIC KILEY Born Oct. 19, 2012 CANF11672051
	OCONNORS EPIC KAJUN Born Oct. 19, 2012 CANF11672050
	MAPEL WOOD EPIC KRUSH Born Oct. 19, 2012 CANF11672049
104	VG-2yr
104	305d. projection: 2-00 9394 479 5.1% 318 3.4% (248 340 263)
	Last Flush: September 25, 2012 Last Heat: October 29, 2012
	Sells with \$13200 embryo contract (6 x \$2200) to GENERVATIONS LIQUID GOLD*
108	Genomic results will be available on November 05, 2012
108A	CALBRETT BREWMASTER SASSY
	Born Sept. 30, 2012 CANF11658869
	Genomic results will be available on November 05, 2012
111	Scratch
111	Jordion
112	GP-81-2yr
_	305d. projection: 1-11 7247 277 3.8% 223 3.1% (187 191 180)
	, , , , , , , , , , , , , , , , , , , ,
119	VG-1yr, 1st Milking Yearling Autumn Opportunity Show Oct 2012, Entered for Royal
	305d. projection: 1-10 8163 324 4.0% 253 3.1% (215 228 207)
	Sells with \$7500 embryo contract (10 x \$750) to M.A.S.
100	2051
120	305d. projection: 3-01 10392 374 3.6% 322 3.1% (236 229 227)
	Sells with \$7500 embryo contract (10 x \$750) to M.A.S.
121	Scratch
121	Suaun
122	Confirmed Safe in Calf
144	Somming Out on Out

124	GP-83-2yr; Sells with 2 #2 embryos by EARHARDT Last Flush: October 25, 2012
125	Bred Oct. 22, 2012 to Mountfield SSI DCY Mogul
130	Scratch
131	Scratch
132	Scratch
133	GP-83-2yr 305 Projection: 2-0 9322 334 3.6% 270 2.9% (237 227 214)
134	VG-2yr Fresh: September 24, 2012 1st test: 33d. 27.9kg 3.4%BF 3.3%PR Sells with \$15000 embryo contract (6 x \$2500) to GENERVATIONS LIQUID GOLD*
134A	ADDED LOT: MAPEL WOOD COLT GLEE-ET Born: Sept. 24, 2012 CANF11672043 (Sandy Valley Colt-P x MorsanManOMan Fools Gold Red) Genomic results will be available on November 05, 2012
142	Scratch
147	Added Lot: CEDARWAL AFTERSHOCK LADY Z Born June 19/12 CANF11521396
148	Scratch
	ALL CONTRACTS TO GENERVATIONS LIQUID GOLD – GIZMO or FUZION 2 units of semen included in the purchase of the cow Embryos must be made within 2 months of semen release date